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P02
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No K1l | K2 | K3 | F5/Mg| F5(80kgf) | F6/Mg | F6(80kgf)

1.0 { 1.0 { 1.0 ] 0.33 27 0.33 27
2.0 ] 2.0 ] 2.0 | 0.57 46 1.14 91
14 ] 20 ] 20| 0.54 43 1.08 86
20114 1] 20| 0.48 39 0.97 77
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201 20 ] 1.4 - - 0.80 64
14114 ] 2.0] 045 36 0.90 72
20114 ] 14 - - 0.68 54
14| 20| 1.4 - - 0.75 60
14| 14 ] 1.4 - - 0.63 50
F5/Mg 3 2
F6/Mg 3 F5(80kgf)
F6(80kgf) 80kgf kgf
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4.2.1

No. K1 | K2 | K3 | K4 [F7/Mg] F7(80kgf) | F8/Mgl F8(80kgf)
1 1.0/ 1.0]1.0]1.0] 0.20 16 0.20 16
2 2.012.0]12.0{2.0] 0.40 32 0.80 64
3|1 1.412.0]2.0[2.0] 0.38 31 0.77 61
4 |2 2.011.4(2.0]2.0] 0.35 28 0.71 57
513 2.012.0[1.4]2.0] 0.34 27 0.68 55
6 |4 2.012.0[2.0]1.4 - - 0.56 45
711 1.411.4]12.0[2.0] 0.34 27 0.68 55
8 |2 2.011.4(1.4]2.0] 0.30 24 0.61 49
9 2.0]120[1.4]|1.4 - - 0.48 38
10]1,2,3 1.411.4]11.4(2.0] 0.29 23 0.58 46
1112,3,4 20]11.4[1.4]|1.4 - - 0.42 34
12 14114]11.4([1.4 - - 0.41 32
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5.1
No. K1 | k2 | k3 |Fs/Mg|rsisokgn] F6/Mg |Feisokgn
1 1.0 10] 120]033| 27 |033]| 27
2 10000 1.0 | 1.0 J o050 | 40 | os0]| 40
3 20| 20| 20 o057 46 | 114 01
4 10000 2.0 | 20 J 067 | 53 | 1.33| 107
5 3 20| 20|14 - - loso| 64
6 10000 2.0 | 1.4 | - - loo93]| 75
7 1.4 14|14 - - los3]| 50
8 10000 1.4 | 1.4 | - - los2| 65
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N K1 | K2 | K3 | K4 JFE7/Mg|F7(80kgh| F8/Mg] F8(80kgf)
1 1.0]1.0] 1.0] 1.0] 0.20 16 0.20 16
2 10000] 1.0 [ 1.0 | 1.0 | 0.25 20 0.25 20
3 201 20| 2.0 2.0] 0.40 32 0.80 64
4 10000f 2.0 | 2.0 ] 2.0 | 0.44 36 0.89 71
5 |4 201 20]120(14 - - 0.56 45
6 10000f 2.0 { 2.0] 1.4 - - 0.62 50
7 1.411.4(14]14 - - 0.41 32
8 10000f 1.4 (1.4 ] 1.4 - - 0.48 38
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